PO2NFRERLFISY Y ZPEITOVIFE

BRIR

1=
=% ["JPHYRI)—D05T(5370Yards Par 72)
88 1 1 48198(8)
IVEU—: 119%
HBiE: 1128
59 28 FiE 237 39 & FiE 237 5Y) 2 FiE 237
1 BIKEFE e 78  (40.38) BA B -vvmsm 88 (45,43) EH RF #HTE 94 (46, 48)
2 IEF \\TH mEEm 79 (41.38) iR DEF =RAB® 88  (44.44) B2 £ F usosvyvs 94 (45, 49)
EF NE BRR 79 (40, 39) R g7 & 88 (43, 45) 84 FEOEH N\EF 95 (50, 45)
& EZ2F Feveo 79 (40, 39) B RF Ezs 88 (43, 45) HER ZBF AEX 95  (48.47)
5 8l PETF kP 80  (42.38) WP @F Juwpeosr 88 (43, 45) =VYH RF B 95  (47.48)
N0EE BN wzsts 80  (41.39) (EJN=S ] 88 (42, 46) B2 T PoPS5cy 95 (46, 49)
7 MW EKE B8 81  (43.38) 48 [U% BWF #3 89  (47.42) Z4RB F mb 95  (45.50)
S8 5F @#52 81  (40.41) P KT xFE 89  (46.43) 89 RE MF mo 96 (49, 47)
NEERF R 81 (40, 41) - ME FE BB - =B =L GMG/\EF 96 (49,47
10 S B8R e 82  (38.44) Bl BE =EEK 89 (45, 44) Rk RN %8 96 (49.47)
1 REH RBF B 83 (41,42 B X7 =% 89  (45.44) SHEF T-Lro2 96 (49.47)
BB BF Frueda 83  (41.42) WA BiF A=% 89 (44, 45) B IDDF paicswE: 96 (49.47)
KE BF wFE 83  (40.43) MR F0F 3N 89  (43.46) e BF Fvrweq 96  (48.48)
14 M BEF f3ch 84  (46.38) LR ST @i 89  (42.47) MK Z8F s=hnveku— 96 (46, 50)
BoASEF FULEwD 84 (44,40) 55 I\MEF H.Laro2 90 (47.43) 96 A BEF B 97  (52.45)
BA feE KRR 84  (42.42) N8 HRF FIFEELR 90 (46, 44) KE Bh=EF #aE 97  (51.46)
HE BB oeerrig 84  (42.42) 57 BF BF BOE 91 (49,42 NREEF I 97  (50.47)
MBS HREEg 84  (41.43) &0 0 @ 91  (47.44) FE E#F =RA0® 97  (46.51)
19 SHEE Bx% 85 (45, 40) e = VEFRGE 91 (47.44) 88 BMNF uBossvyws 97 (46.51)
BK BUT =% 85  (44.41) S BfeF v-Lro2 91 (45,46) 101 — 8 FD wEELZ 98  (49.49)
SFRNBE -vvsrm 85 (43.42) 61 SANEF F= 92 (49, 43) Ng FHF 8= 98 (49, 49)
2l EF FsEA 85  (43.42) = EIF  mo 92 (47, 45) MW XEF [mh 98  (45.53)
PRIEF oDhEEsig 85 (41.44) ZE XF  RPEILX 92 (47, 45) 104 B2 FHEF [ 99  (48.51)
24 i HBF B 86  (45.41) B 57 B= 92  (47.45) AR EFRDF A= 99  (48.51)
WiE BEF =8-5% 86 (44,42 b B8F BE 92 (43, 49) 106 JoAN JBE P 100 (52, 48)
MR ITE st 86 (44,42 66 ARE[ HD HHyoOR 93 (50, 43) 107 B XF B 101 (52. 49)
WT FERF =5 86  (43,43) hFE BF  mEep 93 (48, 45) BR #$BF mo 101 (50.51)
28 HERF 5= 87  (47.40) hE BF [P 93  (47.46) 100 EH DHY FEPp 102 (51.51)
2B EF [P 87  (46.41) =K 5F R 93 (47.46) 110 B BF FUuskws 105 (57, 48)
ik OEH 5B 87  (44.43) & fET @=HVERU— 93 (46, 47) m FHEARE wmrE 107  (54.53)
S BEF =% 87  (44.43) AU ZF N\EF 93  (46.47) 12 IMNIN\EF & 109  (55.54)
WHE 4= =BE 87  (44,43) LE BS 28 -4kH 93  (46.47) x5 WA &F [P
BAZTF H-Lrou2 87 (43,44) TEEBEE  xqoumrvr 93 (45.48) xig 7B RF +80
WH LF few 87  (43,44) FHE B =g 93 (44, 49) xig AN EF BB
a8 By Be 87  (43,44) e ¥ /o 93  (43,50) xig I BIE o
B BBEF Frvto 87  (41.46) £8 BEF e 93 (43, 50) & MR RF  KEK
37 PR EF =845 88  (46.42) 77 INEFBF N\FEF 94 (49, 45) xR 2 BT wW
/S BIF =¥z 88 (46,42 TH ZF J-vvsmrm 94 (49, 45) xig BES)| BF ABwE
BN XF BE 88 (46,42 BN E28TF TR 94 (48, 46)
SHEF iR 88  (46.42) MR BT =mEB™® 94 (47.47)
BARK ——= KEK 88 (46, 42) X8 OAH [P 94 (46, 48)



